FhLUVEY

BRI
(REXFIFHIFR)
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data Day = Sun| Mon | Tue | Wed | Thu | Fr1 | Sat
deriving (Eq, Ord)

workday :: Day -> Bool
workday d = (Mon <= d) && (d <= Fr1)

weekday :: Day -> Bool
weekday d = (d==Sat) || (d==Sun)
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s [EZ IR TEZEZRT 71T TIEELT,
thDETIKFTHENLEHE

T— Y ERT

/
data Tag = Tagn Int | Tagb Bool

{BDFE :  Tagn 10
Tagb True

. -



- FAWMEZRDH

numVal :: Tag -> Int
numVal (Tagn n) =n

1sSNum :: Tag -> Bool
1sSNum (Tagn n) = True
1sSNum (Tagb b) = False
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o HERITHHEINTARELTERT D,

data Pairab=Pairab

{5 : Pair 3 True :: Pair Int Bool
Pair [3] O :: Pair [Int] Int
Pair (Pair 1 2) 3 :: Pair (Pair Int Int) Int
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dataTai a...an=...
| Ci tinti2 ... ti

tii=v BIZT 2
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data Nat = Zero| Succ Nat

EDH
Zero

Succ (Zero)
Q Succ (Succ (Succ (Succ Zero)))
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plus :: Nat -> Nat -> Nat
n plus Zero =n
n plus® (Succ m) = Succ (n "plus” m)

fibnat :: Nat -> Nat

fibnat Zero = /Zero

fibnat (Succ Zero) = Succ Zero

fibnat (Succ (Succ n)) = fibnat (Succ n) plus” fibnat n

inf = Succ inf




° U X I\
data Lista = Nil | Cons a (List a)
BEDBH
Nil :: List a
Cons 1 (Cons 2 Nil) :: List Int

. -
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data Aexp = Num Int
|  Exp Aexp Aop Aexp
Data Aop = Add | Sub | Mul | Div

BEDBH
Exp (Num 3) Add (Num 4)
Exp (Num 3) Add (Exp (Num 4) Mul (Num 5))




» HitrzNDEFH

eval :: Aexp -> Int
eval (Num n) =n
eval (Exp el op €2) = apply op (eval el) (eval e2)

apply Add = (+)

apply Sub = (-)
apply Mul = (**)
apply Div = (/)
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data Aexp = Num Int
|  Exp Aexp Aop Aexp
Data Aop = Add | Sub | Mul | Div

« 1ZE (Numn).
P (Num )M RTONIZHLTRILTHIE,

« I5H (Exp el op e2).
P(e1)&EP(e2)MRIL T 7.

l.E P(Exp e1 op e2)h\F X TDoplxfLTHRILT 5 &,
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data Inst = Load Int | Apply aop
— FTEMHEE: R2vY
type Stack =[ Int ]
— ITDRERIT
execute :: Inst -> Stack -> Stack
execute (Load x) xs = x : Xs
execute (Apply op) (x1:x2:xs) = apply op x2 x1 : xs
— R IDELT
run :: [ Inst ] -> Stack -> Stack run (inl++in2) xs
run [] xs = xs
run (i:is) xs = run is (execute i xs) = run in2 (run inl Xxs)




. FEEIEA INASDIELSDEERA(2)
s AVNAZ BN Zzm T IITHIERT 5.

compile :: Aexp -> [ Inst ]

compile (Num n) = [Load n]

compile (Expelope2)=
compile e1 ++
compile e2 ++

[ Apply op ]

.



Bl : BHEGEIA/INATOELIDEERA(3)
e AINATDIELSE

run (compile e) xs = eval e : xs

aEBA: Aexp L DBEIFMIEICIOTILBATE S,

.




Bl G /INATDIELSDEERA(3)

>

VINATDDIELS

run (compile e) xs = eval e : xs

iEBA: 3Z=E (Numn).

run (compile (Num n)) xs

= run [Load n] xs

= run [] (execute (Load n) xs)
= execute (Load n) xs
=Nn:Xs

* = eval (Num n) : xs




B fFHEZA/INATDIELSDEERA(3)
e AUINATDIELS

run (compile e) xs = eval e : xs

iLBA: 1HS (Exp el op e2).
run (compile (Exp e1 op e2)) xs

= run (compile e1 ++ compile e2 ++ [Apply op]) xs
= run [Apply op] (run (compile e2) (run (compile e1) xs))
= run [Apply op] (run (compile e2) (eval e1 : xs)
= run [Apply op] (eval e2 : eval e1 : xs)
= run [] (execute (Apply op) (eval €2 : eval el : xs)
= execute (Apply op) [eval e2 : eval e1 :xs)

4 = apply op (eval e1) (eval e2) : xs
% = eval (Exp e1 op e2) xs
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{5 : data List a =[]
|a: Lista

E: BRFICK>THEET S

EE. B T Honan

R

Bl : Ry o
push, pop, empty, top

HE  ERZEEET %,
mIcINELHZREFEZXD

E: EHSNAEN

Lp MREORE : EERD, RELTHT 5.
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* Queue a
— start :: Queue a
TEDFX1—x4ERKT S
— join :: Queue a -> a -> Queue a
Fa1—DRAICERZMNMT S
— front :: Queue a -> a
Fa1—DEEEZRFIRT
— reduce :: Queue a -> Queue a
I-E Fa1—DEBEBERZTIVYERS




p

*a— (F5175) (2)
CEA 1T FREE D

— front (join start x) = X

— front (join (join g x) y) = front (join g X)
— reduce (join start x) = start

— reduce (join (join q X) y)

= join (reduce (join g X)) y



Fa1— (1F5175) (3)

.« JRMZKBELE
type Queue a = [4]
start =[]
join g x=q ++ [X]
front = hd
reduce = talil

. HEKICKDEE
type Queue a = Btree a
start = EmptyTree

..E'oin qx=...

\

A—-HhsRkKT S




Remark

o HAREAER
— 2H7H 8:30-10:00
— HFEE, /I MEFEAAT
« EEICZDOT
— BEH#TOS 5L (D)
—- B#HIOISLDETETILESNE
- RS LDER-EH
—- OS5 LDOME DA
« ERT—ALOTOTSL
- MET—ALEDTOUS LA

L0545 11:253 1 8 14:00-18:00 6548350




Thank You!




